

Proceedings of the Estonian Academy of Sciences, 2010, **59**, 4, 326–331 doi: 10.3176/proc.2010.4.11 Available online at www.eap.ee/proceedings

**MATHEMATICS** 

# Bethe ansatz for the deformed Gaudin model

Petr Kulish<sup>a,b</sup>, Nenad Manojlović<sup>b,c\*</sup>, Maxim Samsonov<sup>d</sup>, and Alexander Stolin<sup>e</sup>

<sup>a</sup> St. Petersburg Department of Steklov Mathematical Institute, Fontanka 27, 191023 St. Petersburg, Russia

<sup>b</sup> Grupo de Física Matemática da Universidade de Lisboa, Av. Prof. Gama Pinto 2, PT-1649-003 Lisboa, Portugal

<sup>c</sup> Departamento de Matemática, F. C. T., Universidade do Algarve, Campus de Gambelas, PT-8005-139 Faro, Portugal

<sup>d</sup> Dublin Institute for Advanced Studies, 10 Burlington Road, Dublin 4, Ireland

<sup>e</sup> Department of Mathematical Sciences, University of Gothenburg, SE-41296 Gothenburg, Sweden

Received 30 June 2009, accepted 30 October 2009

**Abstract.** A deformation of the  $\mathfrak{sl}(2)$  Gaudin model by a Jordanian *r*-matrix depending on the spectral parameter is constructed. The energy spectrum is preserved and recurrent creation operators are proposed.

Key words: Gaudin models, algebraic Bethe ansatz.

The Gaudin model of the interacting spins on a chain [1] can be considered classically with the variables  $S_n^{\alpha}$  satisfying Poisson brackets or as a quantum system with the generators of the Lie algebra  $\mathfrak{sl}(2)$  and commutation relations

$$[S_m^{\alpha}, S_n^{\beta}] = \iota \varepsilon^{\alpha \beta \gamma} S_m^{\gamma} \delta_{mn}$$

It is useful as a particularly simple model to develop different approaches within the framework of the quantum inverse scattering method [2] and for some physical application as well.

The treatment of the model using the classical *r*-matrix [3] permits us to extend the Gaudin model to any semi-simple Lie algebra and to all cases when the antisymmetric *r*-matrix  $r(\lambda, \mu)$  satisfies the classical Yang–Baxter equation. The existence of a set of integrals of motion in involution (an Abelian subalgebra) for the Gaudin model is an easy consequence of the classical Yang–Baxter equation. However, the difficult problem is to find the spectrum and corresponding eigenvectors through the Bethe ansatz. This problem has been solved on the case by case basis. A particular situation appears when the underlying quantum group or classical *r*-matrix is deformed by a twist transformation. It was shown in [4] that the integrable system is deformed as well. Even in the simple case of the  $\mathfrak{sl}(2)$  Gaudin model deformed by the Jordanian twist [5] the algebraic Bethe ansatz changes, and the eigenvectors are constructed by recurrence creation operators [6]. Here we consider a more complicated deformation given by the classical *r*-matrix  $r(\lambda, \mu)$  with polynomial dependence on the spectral parameter [7,8].

The  $\mathfrak{sl}(2)$ -invariant *r*-matrix with an extra Jordanian term

$$r_J(\lambda - \mu) = \frac{c_2}{\lambda - \mu} + \xi (h \otimes X^+ - X^+ \otimes h)$$
<sup>(1)</sup>

<sup>\*</sup> Corresponding author, nmanoj@ualg.pt

was studied in [5,6]. To write the *r*-matrix (1), the generators of  $\mathfrak{sl}(2)$  are used

$$[h,X^+]=2X^+,\quad [X^+,X^-]=h,\quad [h,X^-]=-2X^-,$$

as well as the Casimir operator  $c_2$  in the tensor square of the universal enveloping algebra  $U(\mathfrak{sl}(2))$ 

$$c_2 = h \otimes h + 2(X^+ \otimes X^- + X^- \otimes X^+).$$

In this paper we consider the *r*-matrix with an extra term (deformation) depending on the spectral parameters  $\lambda$  and  $\mu$ 

$$r_{\xi}(\lambda,\mu) = \frac{c_2}{\lambda-\mu} + \xi(h \otimes \mu X^+ - \lambda X^+ \otimes h).$$
<sup>(2)</sup>

Using the fundamental representation of  $\mathfrak{sl}(2)$ , one gets the following  $4 \times 4$  matrix:

$$r_{\xi}(\lambda,\mu) = \begin{pmatrix} \frac{1}{\lambda-\mu} & \xi\mu & -\xi\lambda & 0\\ 0 & -\frac{1}{\lambda-\mu} & \frac{2}{\lambda-\mu} & \xi\lambda\\ 0 & \frac{2}{\lambda-\mu} & -\frac{1}{\lambda-\mu} & -\xi\mu\\ 0 & 0 & 0 & \frac{1}{\lambda-\mu} \end{pmatrix}.$$
 (3)

Following the quantum inverse scattering method developed in [9], it is useful to introduce the current algebra generated by

$$L(\lambda) = \begin{pmatrix} h(\lambda) & 2X^{-}(\lambda) \\ 2X^{+}(\lambda) & -h(\lambda) \end{pmatrix},$$
(4)

subject to the following classical analogue of the RTT-relations of [9]:

$$[L(\lambda)\otimes \mathbb{1},\mathbb{1}\otimes L(\mu)]=-[r_{\xi}(\lambda,\mu),L(\lambda)\otimes \mathbb{1}+\mathbb{1}\otimes L(\mu)],$$

where

$$L(\lambda) \otimes \mathbb{1} = egin{pmatrix} h(\lambda) & 0 & 2X^-(\lambda) & 0 \ 0 & h(\lambda) & 0 & 2X^-(\lambda) \ 2X^+(\lambda) & 0 & -h(\lambda) & 0 \ 0 & 2X^+(\lambda) & 0 & -h(\lambda) \end{pmatrix},$$

and

$$\mathbb{1} \otimes L(\mu) = \mathscr{P}(L(\mu) \otimes \mathbb{1}) \, \mathscr{P},$$

where  $\mathscr{P}$  is the permutation matrix in  $\mathbb{C}^2 \otimes \mathbb{C}^2$ . Using the explicit form of the *r*-matrix  $r_{\xi}(\lambda, \mu)$  (3), we get the following commutation relations:

$$\begin{split} &[h(\lambda), h(\mu)] = 2\xi(\lambda X^{+}(\lambda) - \mu X^{+}(\mu)), & [h(\lambda), X^{+}(\mu)] = -2\frac{X^{+}(\lambda) - X^{+}(\mu)}{\lambda - \mu}, \\ &[h(\lambda), X^{-}(\mu)] = 2\frac{X^{-}(\lambda) - X^{-}(\mu)}{\lambda - \mu} + \xi\mu h(\mu), & [X^{-}(\lambda), X^{-}(\mu)] = -\xi(\mu X^{-}(\lambda) - \lambda X^{-}(\mu)), \\ &[X^{+}(\lambda), X^{-}(\mu)] = -\frac{h(\lambda) - h(\mu)}{\lambda - \mu} + \xi\mu X^{+}(\mu), & [X^{+}(\lambda), X^{+}(\mu)] = 0. \end{split}$$

One can see that for  $\xi = 0$  the polynomial loop algebra  $\mathfrak{sl}(2)[\mu]$  is reproduced. The generating function of integrals of motion is given by

$$\begin{split} t(\lambda) &= \frac{1}{2} \mathrm{Tr}(L(\lambda)^2) = h^2(\lambda) + 2(X^-(\lambda)X^+(\lambda) + X^+(\lambda)X^-(\lambda)) \\ &= h^2(\lambda) - 2h'(\lambda) + 4X^-(\lambda)X^+(\lambda) + 2\xi\lambda X^+(\lambda). \end{split}$$

Due to (3) the current algebra  $L(\lambda)$  (4) admits the following local representation:

$$L_{0a}(\lambda, z_a) = \begin{pmatrix} \frac{h_a}{\lambda - z_a} + \xi z_a X_a^+ & \frac{2X_a^-}{\lambda - z_a} - \xi \lambda h_a \\ \frac{2X_a^+}{\lambda - z_a} & -\frac{h_a}{\lambda - z_a} - \xi z_a X_a^+ \end{pmatrix}$$

Here  $h, X^{\pm}$  are elements of  $\mathfrak{sl}(2)$ , index 0 refers to the auxiliary space  $\mathbb{C}^2$ , and *a* is the index of the quantum spaces  $V_a$  (see [9]). Due to the triangular form of the extra term in (2),  $L(\lambda)$  (4) has the highest weight vector  $v_0(l_a)$  in  $V_a$  of the spin  $l_a$ ; in other words,

$$h_a v_0(l_a) = l_a v_0(l_a), \qquad X_a^+ v_0(l_a) = 0.$$

Again, due to the triangular form of the extra term in (2),  $\bigotimes_{a=1}^{N} V_a$  is also the highest weight representation of  $L(\lambda)$  (4) with the highest weight vector  $\Omega = \bigotimes_{a=1}^{N} v_0(l_a)$ . In this representation we have

$$h(\lambda) = \sum_{a=1}^{N} \left( \frac{h_a}{\lambda - z_a} + \xi z_a X_a^+ \right),$$
  

$$X^+(\lambda) = \sum_{a=1}^{N} \frac{X_a^+}{\lambda - z_a},$$
  

$$X^-(\lambda) = \sum_{a=1}^{N} \left( \frac{X_a^-}{\lambda - z_a} - \frac{1}{2} \xi \lambda h_a \right).$$

The value of  $t(\lambda)$  on the highest weight vector  $\Omega$  is

$$t(\lambda)\Omega = \Lambda_0(\lambda)\Omega = \left(\left(\sum_{a=1}^N \frac{l_a}{\lambda - z_a}\right)^2 + 2\sum_{a=1}^N \frac{l_a}{(\lambda - z_a)^2}\right)\Omega = \left(\rho^2(\lambda) - 2\rho'(\lambda)\right)\Omega,$$

where

$$h(\lambda)\Omega = \sum_{a=1}^{N} \left(\frac{h_a}{\lambda - z_a}\right)\Omega = \rho(\lambda)\Omega.$$

In order of obtain the one-magnon eigenstate, it is of interest to notice that

$$t(\lambda)X^{-}(\mu) = X^{-}(\mu)\left(t(\lambda) - \frac{4h(\lambda)}{\lambda - \mu} + 4\xi\lambda X^{+}(\lambda)\right)$$
$$+ 4\frac{X^{-}(\lambda)h(\mu)}{\lambda - \mu} + 2\xi\left(\mu h(\lambda) + 1\right)h(\mu) + 2\xi^{2}\mu^{2}X^{+}(\mu).$$

Thus the one-magnon eigenstate is given by  $X^{-}(\mu_1)\Omega$ :

$$t(\lambda)X^{-}(\mu_{1})\Omega = \Lambda_{1}(\lambda;\mu_{1})X^{-}(\mu_{1})\Omega = \left(\Lambda_{0}(\lambda) - \frac{4\rho(\lambda)}{\lambda - \mu_{1}}\right)X^{-}(\mu_{1})\Omega,$$

provided the Bethe equation  $\rho(\mu_1) = 0$  is valid.

In order to obtain the *M*-magnon eigenstate, it is necessary to introduce the following operators symmetric with respect to the permutation of the quasi-momenta  $\vec{\mu} = (\mu_1, \mu_2, \dots, \mu_M)$ :

$$\begin{split} B_M(\vec{\mu}) &= X^-(\mu_1)(X^-(\mu_2) + \xi\mu_2)\cdots(X^-(\mu_M) + (M-1)\xi\mu_M), \\ B_M^{(k)}(\vec{\mu}) &= (X^-(\mu_1) + k\xi\mu_1)(X^-(\mu_2) + (k+1)\xi\mu_2)\cdots(X^-(\mu_M) + (k+M-1)\xi\mu_M) \\ &= B_M^{(k-1)}(\vec{\mu}) + \xi\sum_{1}^M \mu_j B_{M-1}^{(k)}(\vec{\mu}^{(j)}), \end{split}$$

where  $\vec{\mu}^{(j)} = (\mu_1, \mu_2, \dots, \mu_{j-1}, \mu_{j+1}, \dots, \mu_M)$  means that the variable  $\mu_j$  is absent. We introduce the operator

$$\hat{\beta}_M(\lambda;\vec{\mu}) = h(\lambda) + \sum_{\mu \in \vec{\mu}} \frac{2}{\mu - \lambda}$$

in particular,  $\hat{\beta}(\mu; \emptyset) = h(\mu)$  and we notice that

$$\hat{eta}_M(\lambda;ec{\mu})\Omega=eta_M(\lambda;ec{\mu})\Omega=\left(
ho(\lambda)+\sum_{\mu\inec{\mu}}rac{2}{\mu-\lambda}
ight)\Omega.$$

Consider the two-magnon eigenstate

$$\begin{split} B_2(\mu_1,\mu_2)\Omega &= X^-(\mu_1)(X^-(\mu_2) + \xi\mu_2)\Omega \\ &= \frac{1}{2} \left( X^-(\mu_1)X^-(\mu_2) + X^-(\mu_2)X^-(\mu_1) + \xi \left( \mu_2 X^-(\mu_1) + \mu_1 X^-(\mu_2) \right) \right) \Omega. \end{split}$$

In order to obtain the action of  $t(\lambda)$  on this state, we calculate the commutator  $[t(\lambda), B_2(\mu_1, \mu_2)]$ . Calculation is done, having in mind the formulas with the generators  $X^{\pm}(\lambda), h(\lambda)$  given below which are obtained by induction. So, for any natural number M we have

$$\begin{split} X^{+}(\lambda)B_{M}(\vec{\mu}) = & B_{M}^{(1)}(\vec{\mu})X^{+}(\lambda) - \sum_{1}^{M} B_{M-1}^{(1)}(\vec{\mu}^{(j)}) \left(\frac{\hat{\beta}(\lambda;\vec{\mu}^{(j)}) - \hat{\beta}(\mu_{j};\vec{\mu}^{(j)})}{\lambda - \mu_{j}}\right) \\ & - \sum_{1 \leq i < j \leq M} \frac{2B_{(M-1)}^{(1)}(\lambda \cup \vec{\mu}^{(i,j)})}{(\lambda - \mu_{i})(\lambda - \mu_{j})}, \end{split}$$

similarly,

$$h(\lambda)B_{M}(\vec{\mu}) = B_{M}(\vec{\mu})h(\lambda) + 2\sum_{j=1}^{M} \frac{B_{M}(\lambda \cup \vec{\mu}^{(j)}) - B_{M}(\vec{\mu})}{\lambda - \mu_{j}} + \xi \sum_{j=1}^{M} \mu_{j}B_{M-1}^{(1)}(\vec{\mu}^{(j)})\hat{\beta}(\mu_{j}; \vec{\mu}^{(j)}),$$

and

$$\begin{aligned} X^{-}(\lambda)B_{M}^{(k)}(\vec{\mu}) &= B_{M}^{(k)}(\vec{\mu})(X^{-}(\lambda) + M\xi\lambda) - \xi \sum_{j=1}^{M} \mu_{j}B_{M}^{(k)}(\lambda \cup \vec{\mu}^{(j)}) \\ &= B_{M+1}^{(k)}(\lambda \cup \vec{\mu}) - k\xi\lambda B_{M}^{(k)}(\vec{\mu}) - \xi \sum_{j=1}^{M} \mu_{j}B_{M}^{(k)}(\lambda \cup \vec{\mu}^{(j)}). \end{aligned}$$

Also, the following formula

$$\begin{split} [h(\lambda), B_2(\lambda, \mu_2)] &= 2B_2'(\lambda, \mu_2) + 2\frac{B_2(\lambda, \lambda) - B_2(\lambda, \mu_2)}{\lambda - \mu_2} \\ &+ \xi \mu_2 B_1^{(1)}(\lambda) \hat{\beta}(\mu_2; \lambda) + \xi \lambda B_1^{(1)}(\mu_2) \hat{\beta}(\lambda; \mu_2), \end{split}$$

is used to obtain

 $[h(\lambda), [h(\lambda), B_2(\mu_1, \mu_2)]] - 2[h'(\lambda), B_2(\mu_1, \mu_2)]$   $8B_2(\lambda, \mu_1) = 8B_2(\lambda, \mu_2) = 8B_2(\lambda, \mu_2) = 8B_2(\lambda, \mu_2)$ 

$$= \frac{8B_{2}(\mu_{1},\mu_{2})}{(\lambda-\mu_{1})(\lambda-\mu_{2})} - \frac{8B_{2}(\lambda,\mu_{2})}{(\lambda-\mu_{1})(\lambda-\mu_{2})} - \frac{8B_{2}(\lambda,\mu_{1})}{(\lambda-\mu_{1})(\lambda-\mu_{2})} + \frac{8B_{2}(\lambda,\lambda)}{(\lambda-\mu_{1})(\lambda-\mu_{2})} + 4\xi\lambda \frac{B_{1}^{(1)}(\lambda)}{(\lambda-\mu_{1})(\lambda-\mu_{2})} + \xi\mu_{1} \left(4\frac{B_{1}^{(1)}(\lambda) - B_{1}^{(1)}(\mu_{2})}{\lambda-\mu_{2}} - 2\xi + \xi\mu_{2}\hat{\beta}(\mu_{2};\theta)\right)\hat{\beta}(\mu_{1};\mu_{2}) + \xi\mu_{2} \left(4\frac{B_{1}^{(1)}(\lambda) - B_{1}^{(1)}(\mu_{1})}{\lambda-\mu_{1}} - 2\xi + \xi\mu_{1}\hat{\beta}(\mu_{1};\theta)\right)\hat{\beta}(\mu_{2};\mu_{1}) + 2\xi^{2}\mu_{2}B_{1}^{(1)}(\mu_{1})(\lambda X^{+}(\lambda) - \mu_{2}X^{+}(\mu_{2})) + 2\xi^{2}\mu_{1}B_{1}^{(1)}(\mu_{2})(\lambda X^{+}(\lambda) - \mu_{1}X^{+}(\mu_{1})) + 2\xi \left(B_{1}^{(1)}(\mu_{1})\left(\frac{\lambda\hat{\beta}(\lambda;\mu_{1}) - \mu_{2}\hat{\beta}(\mu_{2};\mu_{1})}{\lambda-\mu_{2}}\right) + B_{1}^{(1)}(\mu_{2})\left(\frac{\lambda\hat{\beta}(\lambda;\mu_{2}) - \mu_{1}\hat{\beta}(\mu_{1};\mu_{2})}{\lambda-\mu_{1}}\right)\right)$$

Finally, we obtain the action of the transfer matrix  $t(\lambda)$  on the two-magnon creation operator

$$\begin{split} t(\lambda)B_{2}(\mu_{1},\mu_{2}) &= B_{2}(\mu_{1},\mu_{2}) \left( t(\lambda) - \sum_{1}^{2} \frac{4h(\lambda)}{\lambda - \mu_{j}} + \frac{8}{(\lambda - \mu_{1})(\lambda - \mu_{2})} + 8\xi\lambda X^{+}(\lambda) \right) \\ &+ \frac{4B_{2}(\lambda,\mu_{1})}{\lambda - \mu_{2}} \hat{\beta}(\mu_{2};\mu_{1}) + \frac{4B_{2}(\lambda,\mu_{2})}{\lambda - \mu_{1}} \hat{\beta}(\mu_{1};\mu_{2}) \\ &+ 2\xi\mu_{2}B_{1}^{(1)}(\mu_{1})h(\lambda)\hat{\beta}(\mu_{2};\mu_{1}) + 2\xi\mu_{1}B_{1}^{(1)}(\mu_{2})h(\lambda)\hat{\beta}(\mu_{1};\mu_{2}) \\ &+ 4\xi\mu_{2}\frac{B_{1}^{(1)}(\lambda) - B_{1}^{(1)}(\mu_{1})}{\lambda - \mu_{1}}\hat{\beta}(\mu_{2};\mu_{1}) + 4\xi\mu_{1}\frac{B_{1}^{(1)}(\lambda) - B_{1}^{(1)}(\mu_{2})}{\lambda - \mu_{2}}\hat{\beta}(\mu_{1};\mu_{2}) \\ &+ \xi^{2}\mu_{1}\mu_{2}(\hat{\beta}(\mu_{2};\emptyset)\hat{\beta}(\mu_{1};\mu_{2}) + \hat{\beta}(\mu_{1};\emptyset)\hat{\beta}(\mu_{2};\mu_{1})) \\ &+ 2\xi^{2}(\mu_{2}^{2}B_{1}^{(1)}(\mu_{1})X^{+}(\mu_{2}) + \mu_{1}^{2}B_{1}^{(1)}(\mu_{2})X^{+}(\mu_{1})) \\ &- 2\xi^{2}(\mu_{1}\hat{\beta}(\mu_{1};\mu_{2}) + \mu_{2}\hat{\beta}(\mu_{2};\mu_{1})) + 2\xi(B_{1}^{(1)}(\mu_{1})\hat{\beta}(\mu_{2};\mu_{1}) + B_{1}^{(1)}(\mu_{2})\hat{\beta}(\mu_{1};\mu_{2})). \end{split}$$

Thus, the eigenvalue of the two-magnon state is

$$\begin{split} t(\lambda)B_2(\vec{\mu})\Omega &= \Lambda_2(\lambda;\vec{\mu})B_2(\vec{\mu})\Omega,\\ \Lambda_2(\lambda;\vec{\mu}) &= \Lambda_0(\lambda) + \frac{8}{(\lambda-\mu_1)(\lambda-\mu_2)} - \frac{4\rho(\lambda)}{\lambda-\mu_1} - \frac{4\rho(\lambda)}{\lambda-\mu_2}, \end{split}$$

provided the Bethe equations  $\beta(\mu_j; \vec{\mu}^{(j)}) = 0$  are satisfied.

The comparison with the previous calculations for the  $\mathfrak{sl}(2)$  Gaudin model deformed by the Jordanian *r*-matrix [6] support our conjecture that the *M*-magnon eigenstate is given by

$$B_M(\vec{\mu})\Omega = X^-(\mu_1)(X^-(\mu_2) + \xi\mu_2)\cdots(X^-(\mu_M) + (M-1)\xi\mu_M)\Omega.$$

The proof by induction is under construction.

Finally, for each rational  $\mathfrak{sl}(2)$ -valued *r*-matrix we have a corresponding Gaudin model. For future development it is interesting to consider the algebraic Bethe ansatz for deformed Gaudin models related to higher rank Lie algebras. For example, in the case of the Lie algebra  $\mathfrak{sl}(3)$ , it may be of interest to consider Gaudin models based on the classification of the rational  $\mathfrak{sl}(3)$ -valued *r*-matrices given in [7,8]. In particular, in this case there are families of rational *r*-matrices of the following form:

$$r(\lambda,\mu)=\frac{c_2}{\lambda-\mu}+r,$$

where *r* is a constant triangular *r*-matrix or a polynomial of degree one with values in the Lie algebra  $\mathfrak{sl}(3)$ . Also, the papers [10,11] are related to this subject.

## ACKNOWLEDGEMENT

The authors are grateful to Prof. T. C. Dorlas for stimulating discussions and kind hospitality at the Dublin Institute for Advanced Studies.

### REFERENCES

- 1. Gaudin, M. La fonction d'onde de Bethe. Masson, Paris, 1983.
- 2. Sklyanin, E. K. Separation of variables in the Gaudin model. J. Soviet. Math., 1989, 47, 2473–2488.
- 3. Kulish, P. P. and Sklyanin, E. K. Solution of the Yang-Baxter equation. J. Soviet. Math., 1982, 19, 1596–1620.
- 4. Kulish, P. P. and Stolin, A. A. Deformed Yangians and integrable models. Czech. J. Phys., 1997, 47, 1207–1212.
- 5. Kulish, P. P. Twisted sl(2) Gaudin model. PDMI preprint, 2002, 08/2002.
- 6. Manojlović, N. and António, N. C. \$12 Gaudin model with Jordanian twist. J. Math. Phys., 2005, 46, 102701, 19 pp.
- 7. Stolin, A. A. On rational solutions of Yang–Baxter equation for  $\mathfrak{sl}(n)$ . Math. Scand., 1991, **69**, 57–80.
- 8. Stolin, A. A. Constant solutions of Yang–Baxter equation for sl(2) and sl(3). Math. Scand., 1991, 69, 81–88.
- 9. Sklyanin, E. K., Takhtajan, L. A., and Faddeev, L. D. Quantum inverse problem method. Teoret. Mat. Fiz., 1979, 40, 194–220.
- 10. Khoroshkin, S. M., Stolin, A. A., and Tolstoy, V. N. Deformation of Yangian Y(sl<sub>2</sub>). Comm. Algebra, 1998, 26, 1041–1055.
- 11. Khoroshkin, S. M., Stolin, A. A., and Tolstoy, V. N. *q*-power function over *q*-commuting variables and deformed XXX and XXZ chains. *Phys. Atomic Nuclei*, 1979, **64**, 2173–2178.

## Bethe eeldus deformeeritud Gaudini mudeli jaoks

#### Petr Kulish, Nenad Manojlović, Maxim Samsonov ja Alexander Stolin

On konstrueeritud  $\mathfrak{sl}(2)$  Gaudini mudeli deformatsioon Jordani *r*-maatriksi abil, mis sõltub spektraalsest parameetrist. Energiaspekter ei muutu ja on pakutud rekurrentsed tekkeoperaatorid.